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[ PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
[ mark the correct choice on your answer sheet.

1-  This evening's meeting is one in which important issues would be discussed; your
attendance is ------n--- ;

1} obligatory 2) didactic 3) relevant 4) explicit

2-  After a long ------ --- between the former husband and wife over the custody of the child,
the court finally decided to grant the custody to the mother.
1) contradiction 2) cruelty 3) squabble 4 hesitation

3-  In Australia, animals are reared on crop residue. Without the animals, these residues
would have to be ————=--=- by other means before another crop can be grown—often by
burning,
1) deprived of 2) disposed of 3) resorted o 4) alluded to

4-  Unable to ----———-- the tyranniecal rules and regulations at the hostel, young Vivian thought
of escaping in the dark of the night.
1) scold 2) acclaim 3) bear 4) treat

5-  Why do some animals, such as humans, ---—----- to sleep, whereas others, such as elephants
and giraffes, stand?
1) require 2) snore 3) setup 4) lie down

6-  With sixteen victories in a row, the Australian cricket team was looking quite unassailable,
but they were finally ---——- at the hands of the Indians,
1) dispersed 2) vanquished 3) conlronted 4) disregarded

7-  The salesboy tried to persuade the old man {o buy goods from him, but had to give up
when the old man told him --—----- that he would not buy anything from him.
1) arbitrarily 2) haphazardly 3) unequivocally  4) necessarily

5- But he had become -—------—- to the rush and whirr of missiles, and now paid no heed
whatever to them.
1) inured 2) rendered 3) constrained 4) affirmed

9-  The judge openly associated with racist organizations; nevertheless, he showed no
-------- in his decisions during his career.

1) uniqueness 2) dexterity 3) gratitude 4) prejudice

10- I don't have any explanation for his —-----—— behavior at last night's party, though I'm
sure that he is quite apologetic about it.
1) credible 2) resolute 3) distinct 4} bizarre

| PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| each space. Then mark the correct choice on vour answer sheet.

Where do such creative sparks come from? How can we conjure them whenever we want?
And why can that be (11) --------- anyway? A complete understanding isn’t here vet,
(12) —=mmmm- neuroscientists are already on the trail of (13) ——-------- . They also have some
good news for each of us (14) -------——- to ignite those inventive fires. As it turns out,
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(15) -=-------- our own muse may be easier than we think. especially if we learn to make a
habit of it.
11- 1) infernally difficult so to do 2) so infernally difficult to do
3) difficult infernally to do so 4) to do so infernally difficult
12- 1) in spite of 2) however 3) nonetheless 4) but
13- 1) where and how does creativity arise  2) creativity how and where it arises
3) where and how creativity arises 4) creativity does arise where and how
14- 1) who has ever struggled 2) struggled ever
3) have ever struggled 4) ever to struggle
15- 1) wetap 2) when we tap 3) and taps 4) tapping

PART C: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best cheoice
(1), (2), (3), or{4). Then mark the correct cheice on yvour answer shect.

PASSAGE 1:

Indusirial designers work with many different specialists, like materials scientists,
engineers, marketers and accountants, to create new products. When beginning a project,
industrial designers may start with a client meeting in which they advise the product
planning team on how existing products can be improved and new ones introduced.
They also work with the market research department to assess the product performance
characteristics required by consumers and cstablish visual characteristics that will give
the sales team an edge in the marketplace.

Next, the designers may create and sketch several different design ideas and present
these options to the client. After the client has decided what ideas are to be pursued, the
industrial designers go to work creating computer renderings with CAD programs and
graphic design or photo imaging software: they also create 3-dimensional mock-ups to
help clients visualize the final results. After the client decides on the final product
design, the project moves to the engineering department for the manufacturing process.

16- Which of the following best describes the organization of the passage?

1) A number of events are chronologically described.

2) The way through a job is carried out is portrayed.

3) The similaritics between several phenomena are delineated.

4) The reasons why there is cooperation among several disciplines are presented.
17- The word *which” in paragraph 1 refers to —----———-- .

1) project 2) product

3) client 4) meeting
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18-

20-

21-

What do industrial designers do after they have already consulted with the market

research department?

1) They meet with costumers to find out if they like the final product.

2) They start work to get themselves established in the market.

3) They provide their intended customers with what they have in mind about how
the product should look like.

4) They make use of computer software to actualize their ideas. the result of which
then serves as a model to generate the first prototype of the intended product.

The word “edge” in paragraph 1 is closest in meaning to ——--—-————- :

1) advantage 2) hunch 3) profit 4) status

What does the paragraph immediately following this passage most probably discuss?

1) Marketing the final product

2) Anaother step in the process of product development

3) Ways emploved by the manufacturers to assess the viability of the design offered to
them

4) The supervision by those in the engineering department over the work to be done by
those in the manufacturing section.

PASSAGE 2:

For several millennia before the onset of industrialization design. technical expertise and
manufacture lay together in the hands of individual craftsmen. who determined the form
of a product at the point of its creation according to their own manual skill, the
parameters set by their clients, the experience accumulated through their own
experimentation and traditional knowledge passed on to them through training or
apprenticeship.

The division of labor that underlies the practice of industrial design did have
precedents in the pre-industrial ¢ra. The growth of trade in the medieval period led to
the emergence of large workshops in cities such as Florence, Venice, Nuremberg and
Bruges, where groups of more specialist crafismen made objects with common forms
through the repetitive duplication of models defined by their shared training and
technique. Competitive pressures in the early 16th century led to the emergence in ltaly
and Germany of patiern books: collections of engravings illustrating decorative forms
and motifs that could be applied to a wide range of products, and whose creation
therefore took place in advance of their application. The use of drawing to specify how
something is later to be constructed was first developed by architects and shipwrights
during the ltalian Renaissance.

What is the passage mainly concerned with?

1) The gradual development of the need for training in the manufacturing process
2) The manual skill required by craftsmen to manufacture good products

3) The impact of the division of labor on industrial design

4) The historical background of industrial design
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22-

26-

Which of the following is TRUE about the pre-industrial era, according to the passage?
1) The first division of labor occurred in that era.

2) It led to the fastest trade growth in the history of mankind.

3) There was some form of industrial design in that era as well.

4) It paved the way for the emergence of the Italian Renaissance.

The word “their” in paragraph 2 refers to ----—-——--—- .

1) craftsmen 2) objects

3) forms 4) models

The phrase “in advance of” in paragraph 2 is closest in meaning to --—----———---- .
1) shortly afier 2) prior to

3) concurrent with 4) later on

There is sufficient information in the passage to answer which of the following guestions?

1) Why did technical expertise and manufacture lay together in the hands of
individual crafismen for several millennia?

2) What prompted the advent of large workshops in some cities in the medieval period?

3) What led to the growth of trade in the medieval period?

4) How long did the Italian Renaissance last?

PASSAGE 3:

As academics responsible for making sense of this jumble for our students then, we feel
like those professional bic-a-brac organizers yvou see on daytime talk shows. confronting
the tumult of someone's bloated car garage. So afler some long days and a dumpster-
load of capabilities lists, here we present everything neatly ordered onto 4 shelving units.
Behold the Design Garage—a categorizing of designed-object activity into four primary
fields: Commercial Design, Responsible Design, Experimental Design, and Discursive
Design. Let's take a closer look at each. focusing on the drivers. criteria for success. and
primary intents:

Commercial Design is what is comimonly understood as industrial/product design and
comprises the overwhelming majority of our professional activity. This is design work
oriented toward. and driven by, the market. Success is largely defined in economic
terms—sufficient return on investment. The primary intent of the designer is to create
useful. useable, and desirable products that customers can afford and that generate
adequate profit.

Responsible Design encompasses what is largely understood as socially responsible
design, driven by a more humanitarian notion of service. Here the designer works to
provide a useful. useable, and desirable product to those who are largely ignored by the
market. lssues such as ethics, compassion. altruism. and philanthropy surround the
work. be it for users in developing or developed countries. While Responsible Design
can and often does have a relation to the market—being "commercially available"—its
primary intent is not a maximization of profit, but instead to serve the underserved.

The passage opens with ---—=eaen- -

1) an anecdote 2) a rhetoric question

3) an analogy 43 a classification

The word “that™ in paragraph 2 refers to -—--—--——---- i

1) products 2) intent 3) customer 4) success
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28-  Which of the following is cited as a difference between commercial design and responsible
design?
1) The degree of professionalism required
2) The amount of money invested
3) The desirability of the products
4) The designers' motive
29-  The author cites which of the following about Responsible Design?
I. It carters to people more concerned with morality than material goods.
I1. Its target customers’ needs are inadequately taken care of by the market.
1L It produces commodities that bring no or little profit.

1) I only 2) 11 only
3) L and II only 4) 1, 11 and I11
30- What does the word "it" in paragraph 3 refer to ---——-——,
1} design 2) market 3) work 4) 1ssue
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